goooon

EMX26

Jo 2000000000000

EMX26

o]
DEMTOOOOODO 2sD26540 000
2EMT30 0000000000000

j3y000000000DbOOODObobDOoboboOoooo

gooao
400000000000 0D00o

e[
gooooooboooo
NPNOOOOODOOOOO

gobobo miTm200000000

eNO0O0OONO
EMX26
(3) 22 oD
T
Tr2
(4) o(5) (6

ed00OODO (Ta=25°C)

eIdOO0O (Unit: mm)

20000000

goooo EMX26

ROHM :

o 5) 1210 o
gris z)"‘ —
6] (1)
12
16

- I

oooooooon

00000 :X26

Parameter Symbol Limits Unit
000000000000 | Veeo 60 v
0000000000000 Veeo 50 v
000000000000 | Veeo 12 Y
ooooooo Ic 015 A (EC)

0.2 A (Pulse) =1
ooooooo Pd | 150 (TOTAL) mw 2
oooooon Tj 150 °C
ooooooog Tstg —55-+150 °C

#1 Single pulse Pw=100ms[]
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COLLECTOR TO EMITTER VOLTAGE : Vce (V)
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COLLECTOR TO EMITTER VOLTAGE : Vce (V)
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Parameter Symbol | Min. | Typ. | Max. | Unit Conditions
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oooooooo hre 820 | - |[2700| - Vce=5V, lc=1mA ®
goooooo fr - | 250 | - | MHz| Vce=5V, le=—10mA, f=100MHz *
ooooooooo Cob - | 35| — | PF | Vcs=5YV, [e=0A, f=1MHz
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